HPE_CIEO2-Zapfen-Empfindlichkeit ya(A)=1 HPE_CIEO2-Zapfen-Empfindlichkeit yy,a(A)=1 CIEO2-Normspektralwerte yma4(A)=1 CIEO2-Normspektralwerte yya,(A)=1

11(N=B11X1(A)+B12y1(\)+B1321(A) mM3(A)=B21X1(A)+B2gy 1(A)+B2aza(A) X1(N)=A11l 1N +A1M1(N)+A1351(N) Y1N)=Az1l 1(N)+A2aM 1 (M) +A2351(A)
By 10,3897 0,6889 -0,0788=570 By -0,2298 1,1834 0,0464A=540 Azj  1,9101 -1,1121 0,2019 A¢570) Ay 0,3709 0,6290 -0,000 AE540)
2 E00:3T 4(\)=21,37 2 E00:51,(\)=21,37 2 E00:5% 1(\)(A)=21,37 2 E00:5y y(\)(\)=21,37
(x, yn=(0,3332, 0,3332) (x, yn=(0,3332, 0,3332) (x, yn=(0,3332, 0,3332) (x, yn=(0,3332, 0,3332
P00:5T ;(1)=22,06 P00:Z1f 4(\)=21,27 P00:5X 1(A)(\)=22,01 P00:5§ 1(A\)(\)=21,57
(x, y)=(0,3604, 0,3531) (x, y)=(0,3604, 0,3531)) (x, yy=(0,3604, 0,3531) (x, y)=(0,3604, 0,3531
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BG630-1A_1 BG630-2A_1 BG631-1A_1 BG631-2A_1
HPE_CIEO2-Zapfen-Empfindlichkeit yy,ax(A)=1 HPE_CIEO2-Zapfen-Empfindlichkeit Yg,,=100 CIEO2-Normspektralwerte ymax(A)=1 CIEO2-Normspektralwerte Yg,,=100
51(N)=Ba1X1(\)*+Bgy (N *+B3Za(N) T\)=B1iXs(A*B1ys(\)+B1Zs(A) Z)(N)=Ag1l 1N +Agm (N +Azam (M) KW=A1T M) +A1MA)+A1554()
Bgj 0,000 0,000 1,000 A=430 By 03897 0,6889 -0,0788=570 Agj 0,000 0,000 1,000 A&430) Azj 19101 -1,1121 0,2019 A£570)
2 E00:351(A\)=21,37 2 E00:Z1 4(A)=100,00 2 E00:2Z 1(A)(\)=21,37 2 E00:2X 4(A\)(A)=99,99
(%, yn=(0,3332, 0,3332) (x, yx=(0,3333, 0,3333 (%, yn=(0,3332, 0,3332) (x, yx=(0,3333, 0,3333
P00:35,(\)=17,48 P00:3T (\)=102,29 P00:5Z 1(\)(\)=17,48 P00:3X {(\)(A)=102,06
(%, yq=(0,3604, 0,3531) (%, y)%=(0,3604, 0,353 (%, y)=(0,3604, 0,3531) (%, y)x=(0,3604, 0,3531
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WellenlangeA /nm WellenlangeA /nm WellenlangeA /nm WellenlangeA/nm
BG630-3A_1 BG630-4A_1 BG631-3A_1 BG631-4A_1
HPE_CIEO2-Zapfen-Empfindlichkeit Yg,,=100 HPE_CIEO2-Zapfen-Empfindlichkeit Yg,,=100 CIEO2-Normspektralwerte Yg,,=100 CIEO2-Normspektralwerte Yg,,=100
MN)=Bo1X(A)*+Bo7yo(\)*+BoZ<(\) 54(A)=BaiXs(A)*Bys(\)+B3Zs(A) TsW)=Aod (N *+AMgA)+A5So(A) ZN)=Agl N +AgaMgA)+Aggm(A)
By -0,2298 1,1834 0,04647\=540 Bz; 0,000 0,000 1,000 A=430 Ay 03709 0,6290 -0,000 AE540) Ag; 0,000 0,000 1,000 A&430)
2 E00: 2 (A)=100,00 2 E00:35 ¢(A\)=100,00 2 E00:2¥ ((\)(\)=99,99 2 E00:37 4(\)(A)=100,00
(%, y)=(0,3333, 0,3333 (%, y)=(0,3333, 0,3333 (%, y)=(0,3333, 0,3333 (%, y)=(0,3333, 0,3333
P00:ZM (A\)=98,64 P00:35 (1\)=81,06 P00:3¥ §(A)(\)=100,00 P00:3Z (\)(\)=81,06
(%, yx=(0,3604, 0,3531 (%, y)%=(0,3604, 0,3531 (%, y)%=(0,3604, 0,353 (%, y)%=(0,3604, 0,3531
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WellenlangeA /nm WellenlangeA /nm WellenlangeA /nm WellenlangeA/nm
BG630-5A_1 BG630-6A_1 BG631-5A_1 BG631-6A_1
HPE_CIEO2-Zapfen-Erregung HPE_CIEO2-Zapfen-Erregung CIEO2-Normspektralwert-Erregung CIEO2-Normspektralwert-Erregung
log [Ts(A\)A0.51 (A)+0,5m¢(A)}] log [Ss(\)H0.5 (A)+0,5mg(A)}] log [XsA)/ysM)] log ZsM)ysM)]
2 E00:XrM ¢(A)=100,00 2 E00:254(A)=100,00 2 E00:2X 4(A)(A)=99,99 E00:2Z {(A)(A\)=100,00
(x, yx=(0,3333, 0,3333 (x, yx=(0,3333, 0,3333 (x, yx=(0,3333, 0,3333 (x, yx=(0,3333, 0,3333
P00:ZM (\)=98,64 P00:35 (\)=81,06 P00:3X ¢(A\)(\)=102,06 P00:3Z (\)(\)=81,06
=(0,3604, 0,3531 (%, y)%=(0,3604, 0,353 “V1=(0, (%, y)=(0,3604, 0,3531
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